

ر�
 ا���
ذب ا����� �� 
  

   
 
����1:  

  

 ا�6�7 وا4رض ، 01/  ����
ذ.ا�-",� اا+*( )'ة %��� ا��$#"�  -1".

 )8
,1 9:*. 
 .1��>�� ا�;��"
2-  
ا4ر ض AB( C:D آ�:�?  ا�6�7 #9 ا+*( )'ة ا�;�ة ا��� �<#� .>

m=70kg  ا4رض JK8 C:D 'L��. 
1
ذا �*�,�O ؟ -3 

 �KP�:  
 .MT=5,95.10²⁴ kg  :آ�:Q ا4رض 


ع ا4رض P( :RT=6 400 km     .  
  .MS=1,99.10³⁰ kg: آ�:Q ا�6�7 


 1�آ[ي ا4رض وا�6�7 ". Q^
  . d=1,5.10⁸ km: ا��*

.�Q ا���
ذب ا����� # :G=6,67.10⁻¹¹ m³kg⁻¹s⁻² .  

  
  
����2:  
  
1-  9*L C:D Q;-Kا+*( )'ة ا�;�ة ا��(S)  أن 
�:D c��ف آ�آ( ا���e 
1

 ، 500Nوز�? JK8 C:D ا4رض �*
وي 
  .ا����cآ�آ( ' L�� JK8 C:D (S)وا��*9 

2-  c��آ�آ( ا�� JK8 C:D Q�
 .اO�,�8 )'ة ا�0;
 �KP�:  

 c��آ�آ( ا�� Q:�آ :MM=6,6.10²³kg .  
 c��ع آ�آ( ا��
P( :RM=3400km .  

Q�
  . JK8 C:D :g₀=9,8N.kg⁻¹ ا4رض  )'ة ا�0;

.�Q ا���
ذب ا����� # :G=6,67.10⁻¹¹ (S.I) .  

  
                  
����3:  

  
                      Q�

ع  h��g"� )'ة ا�0;iر�jا k1 ا4رض 

�;�ب 1.h .  


 أن ا�7'ة  - 1".g  ع
iر�jا ',Dh  )��� ، :g = g₀
!"

(!#$)". 

1
 ���ن  gا+*(  - 2',Dh=10³ km . 
 �KP� :  


ع ا4رض P( :R=6400 km .  
  . g₀=9,8N.kg⁻¹: )'ة ا�0;
�JK8 ',D Q ا4رض 

 . P₀=5.10²N: وزن JK8 C:D 9*L ا4رض ه�  - 3
  .ا+*( آ�:Q هmا ا��*9  -1- 3

ع  -2- 3iر�jا ',D ?ا+*( وز�h=10³km .  



1
 ���ن  - 4',Dh=2R  أن 
". :P=
)₀

*
 . 


ع  - 5iر�jا 
1h  
<��"% no� Q�
g₀  JK8 C:Dا�mي �*
وي ^"? )'ة ا�0;
 .ا4رض 

 

 
����4:  
  
1 -  
""K;� 
"�*L �"-�P�A  وB  ا���ا�� C:D 
  mB=4kgو  mA=1kgآ�:�
ه�

 Q^

 ا��*�<,". /oi�d=2m . 
 .ذآ� .;
��ن ا���
ذب ا�����  -1- 1

1 -2-  
 . Bو  AأوL' �1"[ات %�ى ا���
ذب ."


.�Q ا���
ذب ا����� # Q�"% �KP� :G=6,67.10⁻¹¹(S.I) .  
2 - 
<D
P( /�7ا� Qو��ا4رض آ �-�P�:RT=6400km  
  . MTوآ�:�>

     2-1 -     Q�
  .Gو  MTو  JK8 C:DRT ا4رض .'g₀  Q�jاP� rD-"� )'ة ا�0;
     2-2 -     Q�

ع   gاP� rD-"� )'ة ا�0;iر�jا ',Dh  Q�j'.RT  وh  وg₀ .  
     2-3 -     9*L ه� وزن 
1(S)  ع
iار� C:Dh=6400km  ا4رض JK8 
1


 أن وز�? JK8 C:D ا4رض ه� �:D 

        P₀=800N   
1
ذا �*�,�O؟  

3-Q"s
t^ Q-آ�1 �-�P�  Q"K;�(S’)  ر�vا�� C:D دة�L�1) أرض–  ��%(    C:D
 Q^
*1dL  {"+ ، ��;آ[ ا��1 
1  

 C:D Q;-Kم )'ة ا�;�ى ا��'P,�(S’)  ��;ف ا4رض وا��e 
1.  
 Q^

 أن  dLأوL' ا��*�:D ه� �آ[ي ا4رض وا�;��1 
". Q:}
iا� Q^
ا��*

d=38.10⁴km  �KP� :MT=81ML  
 {"+MT  ا4رض و Q:�آML  ��;ا� Q:�آ.  

  
 
����5:  

  

 آ�:�? �*L �-�P�m  ?�:�آ�آ( آ JK8 C:D 'L��M  ?D
P(وR .  


 ا���آ( C:D ا��*9 اP� rD-"� )'ة %�ة ا���
ذب ا����� ا���  -1<;-K�. 
 .اP� rD-"� )'ة وزن هmا ا��*JK8 C:D 9 هmا ا���آ(  -2
3-  Q�
 .JK8 C:D هmا ا���آg₀  )ا"-P� O,�8� ('ة ا�0;
4-  
"��
vا� �^ Q�
 :ا+*( )'ة ا�0;

 .JK8 C:D ا4رض   - أ
 .JK8 C:D آ�آ( ا��7��ي   - ب

 �KP�:  

ع ا4رض P(:        RT=6 400 km .  
   . MT=6,0.10²⁴ kg       :آ�:Q ا4رض 


ع ا��7��ي P( :RJ=7,15.10⁴ km .  
  . MJ=1,9.10²⁷ kg   :آ�:Q ا��7��ي 


.�Q ا���
ذب ا����� # :G=6,67.10⁻¹¹(S.I) .  

رن وزن هmا ا��*JK8 C:D 9 ا��7��ي .�ز�? JK8 C:D ا4رض -5% . 

 
 
����6:  



  
 Q�

ع ا4رض JK8  k1، .��ار  h��g"� )'ة ا�0;iر�jاh  Q"-��;�ا� Q%�Pا� )*+

 Q"�
  . g = g₀ - 3,08.10⁻⁶ h: ا��
 {"+g₀   
 g₀= 9,81 N.kg⁻¹  {"+h)'ة ا�0;
�JK8 C:D Q ا4رض %"��>


 ب ا���� <,D �-P�.  

ع   m=70kgا+*( وزن L*9 آ�:�?  -1iر�jا ',Dh=10 km  . 

ع  -2iر�jا Q�"% 'Lأوh  ل Q;^ا���اg = 9,66 N.kg⁻¹ . 

 
 
����7:  

  
1-  9*L 'L��(C)  ?�:�آm=600kg  ع
iار� C:DhL    ذي �ا�;� JK8 
1

 Q:�ا��ML=7,3.10²²kg  ع
P7وا�  
RL=1 738 km .  

1-1-  Q�
1
 JK8 ا�;�� .'g  �:D C:DhL   Q�jاP� rD-"� )'ة ا�0;RL  وhL  
  .g₀و )'ة ا�0;
�JK8 C:D Q ا�;�� 


ع  -1-2iر�jا Q�"% O�,�8اhL   أن 
�:D :
1

1₀
=0,25 . 

1
 e�ف ا�;��  (C)  �:;�ة ا��C:D Q;-K ا��*F  9ا+*( ا�7'ة  -1-3

�Q ا�*<ال + �^1-2. 


ع  P�(C)  QK;� ',D 'L��M�-� أن ا��*9 -2            iار� C:Dh’L=36415km   
1
  .JK8 ا�;�� 

             QK;,ا� ���,�M ، ��;آ[ي ا4رض وا��ر .�
.P,� {"v'م )'ة  ا�C ا��*�;"9 ا��
   (C)1���ع ا�;�ى ا��C:D Q;-K ا��*9 

1
 e�ف اjرض وا�;��             .  
                 2-1-    QK8��ا�� Q^

 1�آ[ي ا4رض  d أوP� 'L-"� ا��*". /oi� ��ا�
 Q�j'. ��;وا�RL  وh’L  وML  ا4رض Q:�و آMT .  
                 2-2-     Q�"% )*+اd 
�:D  أنMT=6.10²⁴kg . 

 
 
 




